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1. After a major operation is performed on FusionAccess, the system may be abnormal. In this
case, you need to perform rollback recovery. Which of the following statement about rollback
recovery is correct?

A. Determine to recovery directly after restoring data

B. Check the alarm, determine the alarm component failure time, and select the closest backup file
before the failure time to recover.

C. Reply to all component data in the order in which FusionAccess is deployed when you install

D. It is preferred to use periodic backup data recovery because the data is abnormally used during
backup.

Answer(s): B

2. When the Huawei desktop cloud infrastructure component is deployed in a virtual machine,
which of the following statement is correct?

A. All virtual machines must use the same port group

B. All virtual machines must be on the same network segment

C. All virtual machines must be configured with a separate NIC for the management network.

D. Must use FusionCompute as a virtualization platform

Answer(s): D

3. In Huawei desktop cloud, virtual machines in linked clone virtual machines can share a system
disk, which has the characteristics of fast virtual machine creation and fast software update.



A. False

B. True

Answer(s): B

4. In Huawei desktop cloud, which of the following is the role of DHCP?

A. Provide alias resolution for each virtual desktop

B. Assign IP address, gateway, DNs for each virtual desktop,

C. Assign IP addresses, gateways, DNs for the base component virtual machine of the desktop cloud

D. Assign permissions for each virtual desktop

Answer(s): B

5. In order to improve the user experience of the straight-through graphics desktop, the methods
that you can take in the following are: (Multiple Choice)

A. Use a better performing PC as a terminal to use the desktop

B. Increase network bandwidth

C. Increase vGPU cache

D. Use virtual machines through VNC

Answer(s): A,B

6. In Huawei desktop cloud solution, HDP classifies the displayed bitmaps, lossless compression
of important information such as text, and lossy compression of insensitive data, which reduces
bandwidth and ensures user experience.

A. TRUE



B. FALSE

Answer(s): A

7. The advantage of linked-clone desktops compared to full-copy desktops is: (multiple choice)

A. Faster issue speed

B. Higher desktop performance

C. Improve management and maintenance efficiency

D. Take up less storage space

Answer(s): A,C,D

8. In the full-memory desktop solution architecture using shared storage, the disks stored in the
shared data store are: (Multiple choice)

A. Desktop data disk

B. Desktop emergency disk

C. Desktop template

D. Desktop ID disk

Answer(s): A,B,C,D

9. In the desktop cloud user VM, there are virtual machine automatic diagnosis tools and
automatic log collection tools, which are convenient for users to self-process or collect log files
and send them to support positioning personnel for processing.

A. False

B. True



Answer(s): B

10. The desktop cloud self-service maintenance platform cannot be used. Which of the following
is the possible reason?

A. VAG component is abnormal
B. VLB component is abnormal.
C. UA component is abnormal

D. AD component is abnormal

Answer(s): A

11. Creating templates In the Huawei desktop cloud virtual machine needs to enable Windows
firewall.

A. False

B. True

Answer(s): A

12. In the Fusion AccessR6 version, which of the following statements about the infrastructure
virtual machine is correct?

A. When deploying the FusionAccess management component, you can deploy VAG/VLB and WI in the
same virtual machine.

B. ITA virtual machine is recommended to set the CPU reservation, which cannot also be set when the
production loop is deployed.

C. Linux infrastructure virtual machine is recommended to use the rehat operating system

D. AD/DNS/DHCP component is recommended to use Windows2012, in fact, it can also be installed
Windows2008



Answer(s): D

13. Which of the following is not a feature included in Huawei Desktop Cloud TCM?

A. Desktop configuration

B. Power control

C. Remote assistance

D. Virtual machine allocation

Answer(s): D

14. About the order of Huawei desktop cloud complete replication template creation, which
statement is correct?

A. Create a VM -> Install OS -> Configure OS -> Encapsulate Template -> Adding Domain -> Convert
Virtual Machine to Template -> Configuration Template

B. Create a VM -> Install OS -> Configure OS -> Adding Domain -> Encapsulate Template -> Convert
Virtual Machine to Template -> Configuration Template

C. Create a VM -> Install OS -> Adding Domain -> Configure OS -> Encapsulate Template -> Convert
Virtual Machine to Template -> Configuration Template

D. Create a VM -> Install OS -> Configure OS -> Encapsulate Template -> Convert Virtual Machine to
Template -> Configuration Template

Answer(s): D

15. Which description are correct about the relationship between the user group and the
organizational unit OU in AD? (Multiple Choice)

A. OU can contain account, computer, printer, shared folder

B. The types of objects included in the user group are limited, only the account number



C. User group refers to the subdirectory of the organizational unit OU

D. OU and user groups are objects of Active Directory

Answer(s): A,B,D

16. In Huawei desktop cloud, a virtual machine displayed on the WI is gray. VNC login shows
everything is normal, then indicate that the VM is not registered successfully.

A. TRUE

B. FALSE

Answer(s): A

17. In order for the user to successfully log in to the user VM through the TC, you need to install
the plugin to the TC first. What is the name of the plugin?

A. mirror client

B. access client

C. uvp agent

D. access agent

Answer(s): B

18. A virtual machine is created on the ITA Portal. If it fails or times out, the ITA does not delete
the failed or timed out virtual machine.

A. False

B. True

Answer(s): A



19. Huawei Desktop Cloud Solution Reference Architecture Server and Storage including which
of the following? (Multiple choice)

A. S5500T
B. E6000
C. RH2288

D. E9000

Answer(s): A,B,C,D

20. In the application virtualization solution logic architecture, a separate APS service needs to be
installed for each application to distribute and manage the application.

A. TRUE

B. FALSE

Answer(s): B




